What volume of 2.0 M phosphoric acid can be made from 300 mL of concentrated phosphoric acid?

2.22 L of 2.0 M H3PO4
What volume of 3.0 M ammonium hydroxide is required to neutralize 10 mL of concentrated nitric acid?

53 mL NH4OH
What would be the molarity of a solution prepared by dissolving 36.5 g of sugar (C6H12O6), a non-electrolyte, into 500 mL of water?

4.06 molal
How many grams of glycerine (C3H8O3) are needed to make 800 mL of 4.0 M solution?

294 g C3H8O3
Write the overall ionic equation for the reaction of aqueous lead (II) nitrate reacting with aqueous sodium chloride.

Identify the spectator ions.

Write the net ionic equation.

How many grams of lead (II) chloride will be produced when you combine 30 mL of 5.0 M lead (II) nitrate with 100 mL of 6.0 M sodium chloride.

41.7 g PbCl2
Write the dissociation for the following compounds in solution.  

Barium chloride


Sodium phosphate


Potassium thiosulfate


Calcium carbonate

(If all these solutions are 2 molal, which will have the greatest colligative effect?)

What is the expected boiling point when 200 g of cesium sulfide is dissolved in 300 mL of benzene?  (Assume density of benzene is 1.08 g/mL)

95.6oC

What is the molal concentration of a solution if 9.2 g of the nonelectrolyte (with a molar mass of 83 g/mol) is dissolved in 250 mL of carbon tetrachloride.

(Assume density of CCl4 is 0.89 g/mL)

0.493 molal
